BAN 640
Week 3
Analytics Assignment 3. Linear Programming using LINDO LINGO
Acme Farms (fictitious company) grows wheat and corn. It maintains two farms, Farm_1 and Farm_2. The two farms feature different soil conditions, thus they produce differing yields and costs of growing crops. The table below shows the yields and costs.

	Parameter
	Farm_1
	Farm_2

	Corn yield/ acre
	500 bushels
	650 bushels

	Cost/ acre of corn
	$100
	$120

	Wheat yield/ acre
	400 bushels
	350 bushels

	Cost/ acre of wheat
	$90
	$80

	Acres available
	100
	100


Acme contracted with Major Supermarket to supply at least 11,000 bushels of corn and 7000 bushels of wheat, so we must harvest at least that amount.
Acme Farm’s management has requested that you determine a planting plan to minimize the cost of meeting the minimum demands.

1. Establish the objective equation, based on the data given.
2. Establish the equations for constraints, based on the data given.
3. Obtain LINGO linear optimization program. Download the program and prepare it for use.

Select 64 bit versions where possible. As of early 2017, Lindo Systems provided a short term free Demo trial using the following URL: 
http://www.lindo.com/index.php/ls-downloads/try-lingo
As of early 2017, an Internet search provided the following user manual for Lindo’s LINGO:

http://home.anadolu.edu.tr/~nila/PROGRAM/KILAVUZ/LINGO%20users%20manual.pdf
4. Using the LINGO software package, determine the amount of corn and wheat to plant on farms 1 and 2. Also determine the cost to grow crops (which we want to minimize). Describe the process you used and show screenshots.
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